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; 100kN/M%#B% % — -~ = —|3mEEZB| — ~ — — — | 100kN/m%Z#8 %% — - ~ — —|3mZEBZ B - ~ — — —
Lt 1.00 | 000 ~ 461 57.53 | =hs | 000 ~ 461|187 10.01 znLs 1.00 | 5.00 ~ 5.00 57.53 | #nLs | 5.00 ~ 5.00)|1.87 10.01
2 100kN/M%Z#BZ5| 1.00 | 000 ~ 096 114.48 |3mEBZB| — ~ — — — | 100kN/m% %25 | 1.00 | 1068 ~ 1381 114.48 |3mZ#BZA 5 -~ — — —
ZznLst 1.00 | 0.96 ~ 875 100.00 | =04y | 000 ~ 875|210 11.27 znLs 1.00 | 5.00 ~ 10.68 100.00 | ThS | 5,00 ~ 1381|210 11.27
P 100kN/m#%#B2x5| 1.00| 000 ~ 066 109.87 |3m&EBZB| — ~ — — — | 100kN/MZE#BZS | 1.00 | 1053 ~ 1243 | 109.87 |3mE#BZ5 -~ — — —
Lt 1.00 | 0.66 ~ 845 100.00 | =St | 000 ~ 845 2.18 11.67 znLs 1.00 | 5.00 ~ 1053 100.00 | =hS | 6,00 ~ 1243|218 11.67
4 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZF#BZ B - ~ — — —
Lt 1.00 | 000 ~ 738 94.18 | s | 0.o0 ~ 0.00| 1.69 9.05 znLs 1.00 | 56.00 ~ 9.71 94.18 | #hS | 65.00 ~ 9.71 | 1.69 9.05
5 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#2Z% — - ~ — —|3mZF#BZ B - ~ — — —
ZznLst 1.00 000 ~ 723 92.00 | =ns | 0oo ~ 723|193 10.35 znLs 1.00 | 5.00 ~ 10.64 92.00 | £hs | 5,00 ~ 1064|1.93 10.35
g 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%# %% — - ~ — —|3mEF#BZ D - ~ — — —
ZznLst 1.00 | 000 ~ 703 89.23 | #ns | 0oo ~ 703|173 9.27 znLs 1.00 | 5.00 ~ 879 89.23 | #nbst |5.00 ~ 879|173 9.27
. 100kN/M%Z#8B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mF#BZ B - ~ — — —
ZnLst 1.00 000 ~ 5676 7203 | #nLS | 000 ~ 576 1.89 10.13 znLs 1.00 | 6.00 ~ 6.77 72.03 | ThUS | 6.00 ~ 6.77 | 1.89 10.13
P 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mEF#BZ D - ~ — — —
ZnLst 1.00 | 000 ~ 7.01 88.96 | =ns | 0oo ~ 701|193 10.33 znLs 1.00 | .00 ~ 10.04 88.96 | =nbst | 5,00 ~ 1004]1.93 10.33
9 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZF#BZ D - ~ — — —
ZnLst 1.00 1000 ~ 6.79 85.82 | #ns | 0oo ~ 679|179 9.57 znLs 1.00 | 5.00 ~ 829 85.82 | #nbst |5.00 ~ 829|179 9.57
10 100kN/mM%#8 % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%# %% — - ~ — —|3mZF#BZ B - ~ — — —
ZznLst 1.00 | 000 ~ 4.08 51.14 | =hs | 0oo ~ 408|221 11.82 znLs 1.00 | 5.00 ~ 6.00 51.14 | #ns | 500 ~ 6.00)|221 11.82
17 100kN/mM%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZF#BZ B - ~ — — —
Lt 1.00 | 000 ~ 381 47.84 | =hS | 000 ~ 381213 11.38 znLs 1.00 | 5.00 ~ 5.00 47.84 | =ns | 5.00 ~ 500|213 11.38
100kN/M%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh LS ~ Zh s ~ Zh s ~
100kN/m#E#BZ % ~ ImEFEZRD ~ 100kN/m%#82Z % ~ ImEEZD ~
Zh LS ~ ThLlst ~ Zh LS ~ Zh LS ~
100kN/m#E#BZ % ~ ImEFEZRD ~ 100kN/m%#8Z % ~ ImEEZD ~
Zh LS ~ Th st ~ Zzh st ~ Zh LS ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#B2Z5% ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ Zh s ~
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